EARAZROREIERT — 2 N—XBISY —F 20175118278 (B) 19EZHETH

m# )+ EESER B1 SR —M BRI R
[AE4£] 1% :380,000" ~ 23#%&:95,000MH”  33&:38,000H”  437&:23,000H .~ 57&:15,000 {
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
- 4 3 | FEBEE 1:29.2 1-1-1-1 | 38.6| — 1 458 | FHERE (REE)
1111 *EY=bZv 7 56.0 ) ) | W) v o5T
R:a2=Z /XLy b BXEYU—VT(T pAtZse]
© LI R #ETE : -8-5- = Ry (BHE)
5 6|72y oH— it 4 e 1.(235')).9 8-8-5-2 | 38.5 2 (4552) gﬁ,{é
o4O B:7—ILT4R b=V e amicse]
N 4 3 | RBEAEZ 1:30.4 9-9-9-5 [38.7| — 4 421 | KEEX (%)
3 9| 7F—7H—/N— 56.0 2 1/2) (-5 | ENIERE
Lib—t>TIM4 Bib—trVUI9F BREH IXT4T77—L
N R 265 . o 7 - EX (BHE)
alzlg | TRNVT - o4 L 1.(331).0 6-6-7-6 | 39.4 3 (4:331) R
R:TZRI 48— B:T7Fyvah—FK ® s
N e p A .31, 90— . — $RRBEX (BHE)
5/8l9| 7V—3d—-127 s i‘:55'.a(l) 1(7315; roes 402 10 <4+757) AR
L:7UF—v B:EavTseIL AT 7— L
NPT 1 _EBAE :31. S8 . — HWEORE (BHE)
617 7 X 7 +v—0Av7 o 56.0 : 1(13/12)2 Ao %99 ’ (4_713) E%%‘}fﬁ‘
L:xrinao— B:XxvyF7yT W7 7 — L
- SHEA . 54 - BrB—A (BHE)
715 5| LysLyE—2 #o4 | ZHR L7 A IR R CE e
LT —F4FAF =YL B:IAaYEA TS
> NI 5T :31. ~7-8- . - FHEE (BHE)
8 3| YTy by # 7] R0 1(/731[:? rrEs e ! g‘) BTER
R:vNygHTr B:YaUI v b BRT7— L
Sa e HNAERE— :32. ~10-10- . — BEOE (BHE)
9 4| PIFRI-X o6 ooe 1(332)2 10-10-10-9 | 40.4 9 (fg) g%%a-;a
LRI T b F -G —K— K BNXT—ATTIA2Z BRI
i g . 4t 3 | 1R 1:34.2 3-3-6-10 |42.8| — 5 462 |ETIB—S (BHE)
10/8/10| 7V— K71 —> 54.0 (214) 47 | W YNy 2
LHIRT TR BIXZAT Il #Eth
® 1—F—@EBIERL
1T=7r= 1,9,10,7,5,8,3,6,2,4
20—F— 1,9,10,7,5,8,3,6,2,4
Ja=5= 1,9,7,5,6,10,8,3,2,4
43—+ — 1,6,9,7,2,8,5,3,4,10
[ N5
B 1 160/ 714K 1-6 120H e E 1-6 180H JEE 1-2-6 400M
B B 1 1004 1-2 150H B = 1-6 160H JEE 1-6-2 940M
6 110 2-6 320M B H 1-6 280M
2 1809

ABICOVWTRDTEEERROODE. TR LIV,



